CALCULATI ON OF PRI NCI PAL, | NTEREST AND OTHER | NCOVE
DUE FEDERAL GOVERNMENT FROM CCOLLECTI ONS

For use by those institutions that have been in closing status for awhile and have
repaid the initial bulk of interest to the Federal Covernnent.

BASE DATA NEEDED

A (Cumul ative fromthe begi nning of the programn:
1. Federal Funds Received............ .. .. .. $
2. Institutional Contributions Deposited........................
3. Transfers from Scholarship Fund. ......... ... ... ... ... ... ....
4. Transfers to Scholarship Fund......... ... ... ... .. .. .. .. .. ....
B. (Current period data)

1. Loan Principal Collected........ ... ... . . i,
2. Interest Income Collected on Loans. ............ ... ...
3. Penalty Charges Collected on Loans..... .....................
4, InvestmeNt I NCOMB. . . ... . e e e e e
5. Institutional Repaynent of Bad Debts, Principal..............
6. Institutional Repaynent of Bad Debts, Interest...............
7. Institutional Repaynent of Bad Debts, Penalty Charges........
8. Collection Costs, Principal ......... ... .. .. . . . . . . . . ...
9. Collection Costs, Interest........ ... ...
10. Litigation Costs, Principal ........ ... .. .. . .. . ..
11. Litigation Costs, Interest......... ... . . . . ..
12. Credit Bureau FeesS. .. ..... . e
13. O her CoStS. ...
14 Cash Bal ance End of Period Covered by this Report............

Usi ng the BASE DATA itens above:
Step 1: Cal cul ate the Federal Government’s percentage contributed to the Fund:

Federal percentage (F% = Al +A3- A4
Al+A2+A3- A4

Step 2: Cal cul ate the total amount due the Federal Governmnent:
Total Amount Due Federal CGovernnent = F% x B. 14

Step 3: Cal cul ate the portion of the Total Anpunt Due Feder al
CGovernnent which is Qther |ncone:

O her Income = F%x (B.3 + B.4 + B.7)

Step 4: Cal cul ate the portion of the Total Anpunt Due Feder al
CGover nnent which should be Interest:

Interest = F%x (B.2 + B.6 - B.9 - B.11 - B.12 - B.13)

Step 5: Cal cul ate the portion of the Total Anpunt Due Feder al
Gover nnent whi ch shoul d be principal:

Principal = FBX (B.1 + B.5 - B.8 - B.10)

NOTE: The results of Step 3, Step 4 and Step 5 when added together, should equal
the result of Step 2.




